# Solutions of couples of nonlinear partial differential equations by using modified Adomian decomposition methods 

Abdallah Habila Ali ${ }^{1}$, Abrar Yousif Elriyah ${ }^{2}$<br>Sudan University of Science and Technology, College of Science, Department of Mathematics (Sudan) Mashreq University, College of Science, Department of Mathematics (Sudan)


#### Abstract

In this paper, we introduce the solution of systems of nonlinear partial differential equations subject to the general initial conditions by using Adomian decomposition method (ADM) and Modified decomposition method(MDM).Four illustrated examples has been introduced, and the method has shown a high-precision, fast approach to solve nonlinear system of partial differential equations(PDEs) with initial conditions. The steps of the method are easy implemented and high accuracy.


Keywords: Systems of nonlinear partial differential equations,Adomian decomposition method, Modified decomposition method.

## I. Introduction

Systems of partial differential equations(PDEs) have been use to described many important models in real life, such as contamination, distribution of shallow water, heat, waves contamination and the chemical reaction distribution model [1-4]. The general ideas and key characteristics of these systems are generally applicable [5]. In recent years, many authors have focused on solving non-linear systems of PDEs using various methods such that HAM [6], VIM [7], DTM [8], HPM [9,10], ADM [11,12], coupled laplace decomposition method [13],and semi analytic technique[14]. Recently, decomposition method and its modifications have been used in wider scope to solve different types of PDEs. In 2001 Wazwaz and Al-sayed [15-25] presented a modification of the ADM for nonlinear operator, that is replaced the process of dividing $f$ into two parts by infinite series of components.

Here we used ADM and MDM for solving systems of nonlinear PDEs with initial conditions.This paper is arranged as follows. In Section 2, the,Adomian decomposition method. In Section 3, The Modified Decomposition Method. In Section 4, numerical examples. The conclusions appear in Section 5.

## II. The Adomian decomposition method

In this section of nonlinear partial differential equations will be examined by using Adomian decomposition method. Systems of nonlinear partial differential equations arise in many scientific models such as the propagation of shallow water waves and the Brusselator model of chemical reaction-diffusion model. To achieve our goal in handling systems of nonlinear partial differential equations, we write a system in an operator form by

$$
L_{t} u+L_{x} v+N_{1}(u, v)=g_{1}
$$

$L_{t} u+L_{x} v+N_{2}(u, v)=g_{2}$
With initial data
$v(x, 0)=f_{2}(x)$,

$$
\begin{equation*}
u(x, 0)=f_{1}(x), \tag{1}
\end{equation*}
$$

Where $L_{t}$ and $L_{x}$ are considered, without loss of generality, first order partial differential operators, $N_{1}$ and $N_{2}$ are nonlinear operators, and $g_{1}$ and $g_{2}$ are source terms.Operating with the integral operator $L_{t}^{-1}$ to the system (1) and using the initial data (2) yields

$$
\begin{equation*}
u(x, t)=f_{1}(x)+L_{t}^{-1} g_{1}-L_{t}^{-1} L_{x} v-L_{t}^{-1} N_{1}(u, v), \tag{3}
\end{equation*}
$$

$v(x, t)=f_{2}(x)+L_{t}^{-1} g_{2}-L_{t}^{-1} L_{x} v-L_{t}^{-1} N_{2}(u, v)$,
The linear unknown functions $u(x, t)$ and $v(x, t)$ can be decomposed by infinite series of components

$$
u(x, t)=\sum_{n=0}^{\infty} u_{n}(x, t)
$$

$v(x, t)=\sum_{n=0}^{\infty} v_{n}(x, t)(4)$
However, the nonlinear operators $N_{1}(u, v)$ and $N_{2}(u, v)$ should be represented by using the infinite series of the so-called Adomian polynomials $A_{n}$ and $B_{n}$
As follows:

$$
\begin{equation*}
N_{1}(u, v)=\sum_{n=0}^{\infty} A_{n}, \tag{5}
\end{equation*}
$$

$N_{2}(u, v)=\sum_{n=0}^{\infty} B_{n}$,
Where $u_{n}(x, t)$ and $v_{n}(x, t), n \geq 0$ are the components of $u(x, t)$ and $v(x, t)$ respectively that will be recurrently determined, and $A_{n}$ and $B_{n}, n \geq 0$ are Adomian polynomials that can be generated for all forms of nonlinearity. Substituting (4) and (5) into (3) gives

$$
\begin{equation*}
\sum_{n=0}^{\infty} u_{n}(x, t)=f_{1}(x)+L_{t}^{-1} g_{1}-L_{t}^{-1} L_{x}\left(\sum_{n=0}^{\infty} v_{n}\right)-L_{t}^{-1}\left(\sum_{n=0}^{\infty} A_{n}\right) \tag{6}
\end{equation*}
$$

$\sum_{n=0}^{\infty} v_{n}(x, t)=f_{2}(x)+{ }_{n}^{n=0} L_{t}^{-1} g_{2}-L_{t}^{-1} L_{x}\left(\sum_{n=0}^{\infty} u_{n}\right)-L_{t}^{-1}\left(\sum_{n=0}^{\infty} B_{n}^{n=0}\right)$.
Two recursive relations can be constructed from (1.6) given by
$\begin{array}{cc}u_{k+1}(x, t)=-L_{t}^{-1}\left(L_{x} v_{k}\right)-L_{t}^{-1}\left(A_{k}\right), & k \geq 0, \\ v_{0}(x, t)=f_{2}(x)+L^{-1} g_{2}\end{array}$
$v_{0}(x, t)=f_{2}(x)+L_{t}^{-1} g_{2}$,
$v_{k+1}(x, t)=-L_{t}^{-1}\left(L_{x} u_{k}\right)-L_{t}^{-1}\left(B_{k}\right), \quad k \geq 0$,
It is an essential feature of the decomposition method that the zeroth components $u_{0}(x, t)$ and $v_{0}(x, t)$ are defined always by all terms that arise from initial data and from integrating the source terms. Having defined the zeroth pair ( $u_{0}, v_{0}$ ), the remaining pair $\left(u_{k}, v_{k}\right) k \geq 1$ can be obtained in a recurrent manner by using (7) and (8) . Additional pairs for the decomposition series solutions normally account for higher accuracy. Having determined the components of $u(x, t)$ and $v(x, t)$, the solution $(u, v)$ of the system follows immediately in the form of a power series expansion upon using (4).

## III. The Modified Decomposition Method

The modified decomposition method will further accelerate the convergence of the series solution. It is to be noted that the modified decomposition method will be applied, wherever it is appropriate, to all partial differential equations of many order. To give a clear description of the technique, we consider the partial differential equation in an operator form

$$
\begin{equation*}
L u+R u=g \tag{9}
\end{equation*}
$$

Where $L$ is the highest order derivative, $R$ is a linear differential operator of less order or equal order to $L$, and $g$ is the source term. Operating with the inverse operator on (9) we obtain

$$
\begin{equation*}
u=f-L^{-1}(R u), \tag{10}
\end{equation*}
$$

Where $f$ represents the terms arising from the given initial condition and form grating the source term $g$. Define the solution $u$ as an infinite sum of components defined by
$u=\sum_{n=0}^{\infty} u_{n}$
The aim of the decomposition method is to determine the components $u_{n}, n \geq 0$
Recurrently and elegantly. To achieve this goal, the decomposition method admits the use of the recursive relation

$$
\begin{equation*}
u_{0}=f, \tag{12}
\end{equation*}
$$

$u_{k+1}=-L^{-1}\left(R u_{k}\right), \quad k \geq 0$.
In view of (12), the components $u_{n}, n \geq 0$ are readily obtained.
The modified decomposition method introduces a slight variation to the recursive relation(12) that will lead to the determination of the components of $u$ in a faster and easier way. For specific cases, the function $f$ can be set as the sum of two partial functions, namely $f_{1}$ and $f_{2}$. In other words, we can set

$$
\begin{equation*}
f=f_{1}+f_{2} \tag{13}
\end{equation*}
$$

Using (13), we introduce a qualitative change in the formation of the recursive relation (12). To reduce the size of calculations, we identify the zeroth component $u_{0}$ by one part of $f$, namely $f_{1}$ or $f_{2}$. The other part of $f$ can be added to the component $u_{1}$ among other terms. I $n$ other words, the modified recursive relation can be identified by

$$
\begin{gather*}
u_{0}=f_{1} \\
u_{1}=f_{2}-L^{-1}\left(R u_{0}\right) \tag{14}
\end{gather*}
$$

$u_{k+1}=-L^{-1}\left(R u_{k}\right), k \geq 1$.
Tow important remarks related to the modified method can be made here.
First, by proper selection of the functions $f_{1}$ and $f_{2}$, the exact solution u may be obtained by using very few iterations, and sometimes by evaluating only two components. The success of this modification depends only on the choice of $f_{1}$ and $f_{2}$, and this can be made through trials. Second, if $f$ consists of one term only, the standard decomposition method should be employed in this case.

## IV. Numerical Examples

In this section, we apply the modified decomposition method (MDM) to solve systems of partial differential equations. Numerical results are very encouraging.
Example1. Consider the nonlinear system
$u_{t}+u_{x} v_{x}=2$,
$v_{t}+u_{x} v_{x}=0,(15)$
With the conditions $u(x, 0)=x, v(x, 0)=x$. (16)

## Solution.

Operating with $L_{t}^{-1}$ we obtain
$u(x, t)=x+2 t-L_{t}^{-1}\left(u_{x} v_{x}\right)$,
$v(x, t)=x-L_{t}^{-1}\left(u_{x} v_{x}\right)$. (17)
The linear terms $u(x, t)$ and $v(x, t)$ can be represented by the decomposition series
$u(x, t)=\sum_{n=0}^{\infty} u_{n}(x, t)$,
$v(x, t)=\sum_{n=0}^{\infty} v_{n}(x, t)$,
And the nonlinear terms $u_{x} v_{x}$ and $u_{x} v_{x}$ by an infinite series of polynomials
$u_{x} v_{x}=\sum_{n=0}^{\infty} A_{n}$
$u_{x} v_{x}=\sum_{n=0}^{\infty} B_{n}(19)$
Where $A_{n}$ and $B_{n}$ are the Adomian polynomials that can be generated for any form of nonlinearity. Substituting (18) and (19) into (17) gives
$\sum_{n=0}^{\infty} u_{n}(x, t)=x+2 t-L_{t}^{-1}\left(\sum_{n=0}^{\infty} A_{n}\right)$,
$\sum_{n=0}^{\infty} v_{n}(x, t)=x-L_{t}^{-1}\left(\sum_{n=0}^{\infty} B_{n}\right)(20)$
To accelerate the convergence of the solution, the modified decomposition method will be applied here. The modified decomposition method defines the recursive relations in the form

$$
\begin{gather*}
u_{0}(x, t)=x \\
u_{1}(x, t)=2 t-L_{t}^{-1}\left(A_{0}\right) \tag{21}
\end{gather*}
$$

$u_{k+1}(x, t)=-L_{t}^{-1}\left(A_{k}\right), \quad k \geq 1$.
And

$$
\begin{equation*}
v_{0}(x, t)=x \tag{22}
\end{equation*}
$$

$v_{k+1}(x, t)=-L_{t}^{-1}\left(B_{k}\right), \quad k \geq 0$.
The Adomian polynomials for the nonlinear term $u_{x} v_{x}$ are given by

$$
\begin{gathered}
A_{0}=u_{0_{x}} v_{0_{x}} \\
A_{1}=u_{1_{x}} v_{0_{x}}+u_{0_{x}} v_{1_{x}}
\end{gathered}
$$

And for the nonlinear term $u_{x} v_{x}$ by

$$
\begin{gathered}
B_{0}=u_{0_{x}} v_{0_{x}} \prime \\
B_{1}=u_{1_{x}} v_{0_{x}}+u_{0_{x}} v_{1_{x}}
\end{gathered}
$$

Using the derived Adomian polynomials into (21) and (22), we obtain the following pairs of components

$$
\begin{gathered}
\left(u_{0}, v_{0}\right)=(x, x), \\
\left(u_{1}, v_{1}\right)=(t,-t), \\
\left(u_{2}, v_{2}\right)=(0,0)
\end{gathered}
$$

Accordingly, the solution of the system in a series form is given by
$(u, v)=(x+t+0, x-t+0)$
And in a closed form by $(u, v)=(x+t, x-t)$. (24)
Example 2. Consider the following nonlinear system:
$u_{t}-v u_{x}-u=1$,
$v_{t}+u v_{x}+v=1,(25)$
With the initial conditions
$u(x, 0)=e^{-x}, \quad v(x, 0)=e^{x}(26)$

## Solution.

Following the analysis presented above we obtain

$$
\begin{equation*}
u(x, t)=e^{-x}+t+L_{t}^{-1}\left(v u_{x}\right)+L_{t}^{-1}(u) \tag{27}
\end{equation*}
$$

$v(x, t)=e^{x}+t-L_{t}^{-1}\left(u v_{x}\right)-L_{t}^{-1}(v)$.
Substituting the decomposition representations for linear and nonlinear into
(27) yields
$\sum_{n=0}^{\infty} u_{n}(x, t)=e^{-x}+t+L_{t}^{-1}\left(\sum_{n=0}^{\infty} A_{n}\right)+L_{t}^{-1}\left(\sum_{n=0}^{\infty} u_{n}\right)$,
$\sum_{n=0}^{\infty} v_{n}(x, t)=e^{x}+t-L_{t}^{-1}\left(\sum_{n=0}^{\infty} B_{n}\right)-L_{t}^{-1}\left(\sum_{n=0}^{\infty} v_{n}\right)$,
Where $A_{n}, B_{n}$, are Adomian polynomials for the nonlinear terms $v u_{x}, u v_{x}$ respectively.
To accelerate the convergence of the solution, the modified decomposition method will be applied here. The modified decomposition method defines the recursive relations in the form

$$
\begin{gathered}
u_{0}(x, t)=e^{-x} \\
u_{1}(x, t)=t+L_{t}^{-1}\left(A_{0}+u_{0}\right),
\end{gathered}
$$

$u_{k+1}(x, t)=L_{t}^{-1}\left(A_{k}+u_{k}\right), \quad k \geq 1$. (29)
And

$$
\begin{gather*}
v_{0}(x, t)=e^{x} \\
v_{1}(x, t)=t-L_{t}^{-1}\left(B_{0}+v_{0}\right), \tag{30}
\end{gather*}
$$

$v_{k+1}(x, t)=-L_{t}^{-1}\left(B_{k}+v_{k}\right), \quad k \geq 1$.
For brevity, we list the first three Adomian polynomials for $A_{n}, B_{n}$, as follows:
For $v u_{x}$ we find

$$
\begin{gathered}
A_{0}=v_{0} u_{0_{x}} \\
A_{1}=v_{1} u_{0_{x}}+v_{0} u_{1_{x}} \\
A_{2}=v_{2} u_{0_{x}}+v_{1} u_{1_{x}}+v_{0} u_{2_{x}},
\end{gathered}
$$

And for $u v_{x}$ we find

$$
\begin{gathered}
B_{0}=u_{0} v_{0_{x}} \\
B_{1}=u_{1} v_{0_{x}}+u_{0} v_{1_{x}}, \\
B_{2}=u_{2} v_{0_{x}}+u_{1} v_{1_{x}}+u_{0} v_{2_{x}},
\end{gathered}
$$

Using the derived Adomian polynomials into equations (29) and (30), we obtain:

$$
\begin{array}{r}
u_{0}(x, t)=e^{-x}, v_{0}(x, t)=e^{x} \\
u_{1}(x, t)=t+L_{t}^{-1}\left(-1+e^{-x}\right)=t e^{-x} \\
v_{1}(x, t)=t-L_{t}^{-1}\left(1+e^{x}\right)=-t e^{x} \\
u_{2}(x, t)=L_{t}^{-1}\left(A_{1}+u_{1}\right)=\frac{1}{2} t^{2} e^{-x} \\
v_{2}(x, t)=-L_{t}^{-1}\left(B_{1}+v_{1}\right)=\frac{1}{2} t^{2} e^{x} \\
u_{3}(x, t)=L_{t}^{-1}\left(\frac{1}{2} t^{2} e^{-x}\right)=\frac{1}{3!} t^{3} e^{-x} \\
v_{3}(x, t)=-L_{t}^{-1}\left(\frac{1}{2} t^{2} e^{x}\right)=-\frac{1}{3!} t^{3} e^{x}
\end{array}
$$

The solutions $u(x, t), v(x, t)$ in a series form are given by :

$$
\begin{aligned}
& u(x, t)=e^{-x}+t e^{-x}+\frac{1}{2!} t^{2} e^{-x}+\frac{1}{3!} t^{3} e^{-x}+\cdots \\
& \quad=e^{-x}\left(1+t+\frac{1}{2!} t^{2}+\frac{1}{3!} t^{3}+\cdots\right)=e^{-x+t} \\
& v(x, t)=e^{x}-t e^{-x}+\frac{1}{2!} t^{2} e^{-x}-\frac{1}{3!} t^{3} e^{-x}+\cdots
\end{aligned}
$$

$$
=e^{-x}\left(1-t+\frac{1}{2!} t^{2}-\frac{1}{3!} t^{3}+\cdots\right)=e^{x-t}
$$

And in a closed form by:

$$
u(x, t)=e^{-x+t}
$$

$v(x, t)=e^{x-t}(31)$
Which are the exact solutions.
Example 3. Consider the following nonlinear system:
$u_{t}+2 v u_{x}-u=2$,
$v_{t}-3 u v_{x}+v=3$,
With the initial conditions
$u(x, 0)=e^{x}, \quad v(x, 0)=e^{-x}$

## Solution.

Operating with $L_{t}^{-1}$, we obtain

$$
u(x, t)=e^{x}+2 t-2 L_{t}^{-1}\left(v u_{x}\right)+L_{t}^{-1}(u)
$$

$v(x, t)=e^{-x}+3 t+3 L_{t}^{-1}\left(u v_{x}\right)-L_{t}^{-1}(v) .(34)$
Substituting the decomposition representations for linear and nonlinear into
(34) yields

$$
\begin{equation*}
\sum_{n=0}^{\infty} u_{n}(x, t)=e^{x}+2 t-2 L_{t}^{-1}\left(\sum_{n=0}^{\infty} A_{n}\right)+L_{t}^{-1}\left(\sum_{n=0}^{\infty} u_{n}\right) \tag{35}
\end{equation*}
$$

$\sum_{n=0}^{\infty} v_{n}(x, t)=e^{-x}+3 t+3 L_{t}^{-1}\left(\sum_{n=0}^{\infty} B_{n}\right)-L_{t}^{-1}\left(\sum_{n=0}^{\infty} v_{n}\right)$,
Where $A_{n}, B_{n}$, are Adomian polynomials for the nonlinear terms $v u_{x}, u v_{x}$ respectively. The modified decomposition method defines the recursive relations in the form

$$
u_{0}(x, t)=e^{x},
$$

$$
u_{1}(x, t)=2 t-2 L_{t}^{-1}\left(A_{0}+u_{0}\right),
$$

$u_{k+1}(x, t)=-2 L_{t}^{-1}\left(A_{k}+u_{k}\right), \quad k \geq 1$.(36)
And

$$
\begin{gather*}
v_{0}(x, t)=e^{-x} \\
v_{1}(x, t)=3 t+3 L_{t}^{-1}\left(B_{0}-v_{0}\right) \tag{37}
\end{gather*}
$$

$v_{k+1}(x, t)=3 L_{t}^{-1}\left(B_{k}-v_{k}\right), \quad k \geq 1$.
For brevity, we list the first three Adomian polynomials for $A_{n}, B_{n}$, as follows:
For $v u_{x}$ we find

$$
\begin{gathered}
A_{0}=v_{0} u_{0_{x}}, \\
A_{1}=v_{1} u_{0_{x}}+v_{0} u_{1_{x}}, \\
A_{2}=v_{2} u_{0_{x}}+v_{1} u_{1_{x}}+v_{0} u_{2_{x}},
\end{gathered}
$$

And for $u v_{x}$ we find

$$
\begin{gathered}
B_{0}=u_{0} v_{0_{x}}, \\
B_{1}=u_{1} v_{0_{x}}+u_{0} v_{1_{x}}, \\
B_{2}=u_{2} v_{0_{x}}+u_{1} v_{1_{x}}+u_{0} v_{2_{x}},
\end{gathered}
$$

Using the derived Adomian polynomials into equations (36) and (37), we obtain:
$\left(u_{0}, v_{0}\right)=\left(e^{x}, e^{-x}\right)$
$u_{1}(x, t)=2 t-L_{t}^{-1}\left(1+e^{x}\right)=t e^{x}$
$v_{1}(x, t)=3 t+3 L_{t}^{-1}\left(-1-e^{-x}\right)=-t e^{-x}$
$u_{2}(x, t)=-2 L_{t}^{-1}\left(A_{1}+u_{1}\right)=\frac{1}{2!} t^{2} e^{x}$
$v_{2}(x, t)=3 L_{t}^{-1}\left(B_{1}-v_{1}\right)=\frac{1}{2!} t^{2} e^{-x}$
$A_{n}=0, n \geq 1$
$u_{n}(x, t)=\frac{1}{n!} t^{n} e^{x}, n \geq 2$
$B_{n}=0, n \geq 1$
$v_{n}(x, t)=\frac{\left(-t^{n}\right)}{n!} e^{-x}, n \geq 2$
And in a closed form by:
$u(x, t)=e^{x+t}$
$v(x, t)=e^{-x-t}$

Example 4. Consider the following nonlinear system:
$u_{t}+v u_{x}-3 u=2$,
$v_{t}-u v_{x}+3 v=2,(39)$
With the initial conditions
$u(x, 0)=e^{2 x}, \quad v(x, 0)=e^{-2 x}(40)$

## Solution.

Operating with $L_{t}^{-1}$, we obtain

$$
u(x, t)=e^{2 x}+2 t-L_{t}^{-1}\left(v u_{x}\right)+L_{t}^{-1}(3 u)
$$

$v(x, t)=e^{-2 x}+2 t+L_{t}^{-1}\left(u v_{x}\right)-L_{t}^{-1}(3 v) .(41)$
Substituting the decomposition representations for linear and nonlinear into
(41) yields

$$
\begin{equation*}
\sum_{n=0}^{\infty} u_{n}(x, t)=e^{2 x}+2 t-L_{t}^{-1}\left(\sum_{n=0}^{\infty} A_{n}\right)+L_{t}^{-1}\left(\sum_{n=0}^{\infty} 3 u_{n}\right) \tag{42}
\end{equation*}
$$

$\sum_{n=0}^{\infty} v_{n}(x, t)=e^{-2 x}+2 t+L_{t}^{-1}\left(\sum_{n=0}^{\infty} B_{n}\right)-L_{t}^{-1}\left(\sum_{n=0}^{\infty} 3 v_{n}\right)$,
Where $A_{n}, B_{n}$, are Adomian polynomials for the nonlinear terms $v u_{x}, u v_{x}$ respectively. The modified decomposition method defines the recursive relations in the form

$$
\begin{gathered}
u_{0}(x, t)=e^{2 x} \\
u_{1}(x, t)=2 t+L_{t}^{-1}\left(-A_{0}+3 u_{0}\right)
\end{gathered}
$$

$u_{k+1}(x, t)=L_{t}^{-1}\left(-A_{k}+3 u_{k}\right), \quad k \geq 1$.(43)
And

$$
\begin{gathered}
v_{0}(x, t)=e^{-2 x} \\
v_{1}(x, t)=2 t+L_{t}^{-1}\left(B_{0}-3 v_{0}\right),
\end{gathered}
$$

$v_{k+1}(x, t)=L_{t}^{-1}\left(B_{k}-3 v_{k}\right), \quad k \geq 1$.(44)
We list the first four Adomian polynomials for $A_{n}, B_{n}$, as follows
For $v u_{x}$ we find

$$
\begin{gathered}
A_{0}=v_{0} u_{0_{x}} \\
A_{1}=v_{1} u_{0_{x}}+v_{0} u_{1_{x}} \\
A_{2}=v_{2} u_{0_{x}}+v_{1} u_{1_{x}}+v_{0} u_{2_{x}} \\
A_{3}=v_{3} u_{0_{x}}+v_{2} u_{1_{x}}+v_{1} u_{2_{x}}+v_{0} u_{3_{x}},
\end{gathered}
$$

And for $u v_{x}$ we find

$$
\begin{gathered}
B_{0}=u_{0} v_{0_{x}}, \\
B_{1}=u_{1} v_{0_{x}}+u_{0} v_{1_{x}}, \\
B_{2}=u_{2} v_{0_{x}}+u_{1} v_{1_{x}}+u_{0} v_{2_{x}}, \\
B_{3}=u_{3} v_{0_{x}}+u_{2} v_{1_{x}}+u_{1} v_{2_{x}}+u_{0} v_{3_{x}},
\end{gathered}
$$

Using the derived Adomian polynomials into equations (43) and (44), we obtain:

$$
\left(u_{0}, v_{0}\right)=\left(e^{2 x}, e^{-2 x}\right)
$$

$$
u_{1}(x, t)=2 t+L_{t}^{-1}\left(3 e^{2 x}-2\right)=3 t e^{2 x}
$$

$v_{1}(x, t)=2 t+L_{t}^{-1}\left(-2-3 e^{-2 x}\right)=-3 t e^{-2 x}$
$u_{2}(x, t)=-L_{t}^{-1}\left(A_{1}\right)+L_{t}^{-1}\left(3 u_{1}\right)=\frac{9}{2!} t^{2} e^{2 x}=\frac{(3 t)^{2}}{2!} t^{2} e^{2 x}$
$v_{2}(x, t)=L_{t}^{-1}\left(B_{1}-3 v_{1}\right)=9 \frac{1}{2!} t^{2} e^{-2 x}=\frac{(3 t)^{2}}{2!} t^{2} e^{-2 x}$
$u_{3}(x, t)=-L_{t}^{-1}\left(A_{2}\right)+L_{t}^{-1}\left(3 u_{2}\right)=\frac{27}{3!} t^{3} e^{2 x}=\frac{(3 t)^{3}}{3!} t^{3} e^{2 x}$
$v_{3}(x, t)=L_{t}^{-1}\left(0-\frac{27}{3!} t^{2} e^{-2 x}\right)=-\frac{27}{3!} t^{3} e^{-2 x}=-\frac{(3 t)^{3}}{3!} t^{3} e^{-2 x}$
$u_{4}(x, t)=L_{t}^{-1}\left(0+L_{t}^{-1}\left(3 \frac{(3 t)^{3}}{3!} t^{3} e^{2 x}\right)=\frac{(3 t)^{4}}{4!} t^{4} e^{2 x}\right.$
$v_{4}(x, t)=L_{t}^{-1}\left(0-3 \frac{(3 t)^{3}}{3!} t^{3} e^{-2 x}\right)=\frac{(3 t)^{4}}{4!} t^{4} e^{2 x}$
The solutions $u(x, t), v(x, t)$ in a series form are given by:

$$
u(x, t)=e^{2 x}+3 t e^{2 x}+\frac{(3 t)^{2}}{2!} t^{2} e^{2 x}+\frac{(3 t)^{3}}{3!} t^{3} e^{2 x}+\frac{(3 t)^{4}}{4!} t^{4} e^{2 x}+\cdots
$$

$v(x, t)=e^{-2 x}-3 t e^{-2 x}+\frac{(3 t)^{2}}{2!} t^{2} e^{-2 x}-\frac{(3 t)^{3}}{3!} t^{3} e^{-2 x}+\frac{(3 t)^{4}}{4!} t^{4} e^{2 x}-\cdots$
And in a closed form by:
$u(x, t)=e^{2 x+3 t}$
$v(x, t)=e^{-2 x-3 t}$

## V. Conclusion

The nonlinear partial differential equations have been solved byAdomian decomposition methods and Modified decomposition methods these method are very effective and accelerate the convergent of solution , the study showed that these methods are easy to apply and they are more accurate and effective.

## References

[1]. Batiha B, Noorani MSM, Hashim I. Numerical simulations of systems of PDEs by Variational iteration method. Phys. Lett. A. 2008;372:822-829.
[2]. Wazwaz AM. The Variatioal iteration method for solving Linear and nonlinear systems of PDEs, Comput. Math. Appl.2007;54:895-902.
[3]. Tawfiq LNM and Altaie H. 2002. Recent Modification of Homotopy Perturbation Method for Solving System of Third Order PDEs. Journal of Physics: Conference Series. 1530 (012073):1-8. IOP Publishing.
[4]. Somjate Duangpithak. Variational iteration method for special nonlinear partial differential equations. Int. JoUrnal of Math.Analysis. 2012;6(22):1071-1077.
[5]. Enadi, M. O., and Tawfiq, L.N.M, 2019,New Technique for Solving Autonomous Equations, Ibn Al-Haitham Journal for Pure and Applied Science, 32(2),p:123-130, Doi:10.30526/32.2.2150.
[6]. Adomian G., 1995, The diffusion-brusselator equation, Comput. Math. Appl.29:1-3.
[7]. Tawfiq, L.N.M. and Naoum, R.S., 2007, Density and approximation by using feed forward Artificial neural networks. Ibn AlHaitham journal for Pure and Applied Sciences., 20(1):67-81.
[8]. Abdul-Majid Wazwaz. The Variational iteration method for solving linear and nonlinear systems of PDEs. Computers and Mathematics with Applications. 2007; 54:895-902.
[9]. Tawfiq LNM, Rasheed HW. 2013, On Solution of Non linear Singular Boundary Value Problem. IHJPAS. 26(3):320-8.
[10]. Tawfiq LNM, 2005,On Training of Artificial Neural Networks, Al-Fatih journal, 1(23), 130-139
[11]. Salih, H.,Tawfiq, L.N.M, Yahya, Z.R.I, and Zin, S.M., 2018, Solving Modified Regularized Long Wave Equation Using Collocation M ethod. Journal of Physics:Conference Series. 1003(012062):1-10. Doi:10.1088/1742-6596/1003/1/012062.
[12]. Tawfiq, L.N.M. and Salih, O.M., 2019, Design neural network based upon decomposition approach for solving reaction diffusion equation, Journal of Physics:Conference Series, 1234 (012104):1-8.
[13]. Tawfiq, L.N.M, Jasim, K.A., and Abdulhmeed, E.O., 2015, Mathematical Model for Estimation the Concentration of Heavy Metals in Soil for Any Depth and Time and its Application in Iraq, Intrenational Journal of Advanced Scientific and Technical Research, 4(5), 718-726.
[14]. Wazwaz AM. The modified decomposition method for analytic treatment of differential equations. Appl. Math. CompUt.(2006). 173(1):165-176.
[15]. Tawfiq, L.N.M, Al-Noor,N.H., and AL-Noor,T. H., 2019, Estimate the Rate of Contamination in Baghdad Soils By Using Numerical Method, Journal of Physics:Conference Series, 1234 (032020),:1-10,doi:10.1088/1742-6596/1294/3/032020.
[16]. M.J.Ablowitz and P.A. Clarkson, Solitons, Nonlinear Evolution Equations and Inverse Scattering, Cambridge University Press, Cambridge, (1991).
[17]. M.J. Ablowitz and H.Segur, Solitons and the Inverse Scattering Transform, SIAM, Philadelphia (1981).
[18]. G.Adomian, Solving Frontier Problems of Physics: The Decomposition Method, Kluwer,Boston, (1994).
[19]. G.Adomian, Anew approach to nonlinear partial differential equations, J. Math.Anal. Appl., 102,420-434, (1984).
[20]. G.Adomian, Nonlinear Stochastic Operator Equations, Academic Press, San Diego, (1986).
[21]. Y.Cherruault, Convergence of Adomian ${ }^{\text {s }}$ method, Kybernotes, 18(2), 31-38, (1989).
[22]. Y.Cherruault, and G.Adomian, Decomposition methods: a new proof of convergence, Math.Comput. Modelling , 18, 103-106, (1993).
[23]. J.H.He, Some asymptotic methods for strongly nonlinearly equations, Int J. of Modern Math.,20(10), 1141-1199, (2006).
[24]. J.H.He, Variational iteration method for autonomous ordinary differential systems, Appl.math.Comput., 114(2/3), 115-123, (2000).
[25]. J.H.He, Variational iteration method -a kind of nonlinear analytical technique: some examples, Int.J. Nonlinear Mech, 34,799-708, (1999).

